
24  Enclosures and Components Buyer’s Guide

Other accessories

OES1 Extension Frame screw Ø 17 x 67 0.006 12 6418677174803
OHI1 Hinge, pair incl. mounting instruction 40 x 50 x 16.5 0.050 1 6418677164774
OHICP1 Hinge, pair incl. 2 cover plugs 40 x 50 x 16.5 0.052 1 6418677172304
OFL1 Fastening lug, set à 4 19 x 40 x 35.5 0.026 1 6418677164781
OEL1 Corner elevator incl. M5 bolt 19/19 x 14 0.008 10 6418677164798
OELA1.04 Corner elevator, set à 4 OEL1 20/26 x 14 0.033 1 6418677181696
OTS1 Threaded bushing for cover screw

when cover mounted on the back 18/30 Ø 16 0.0025 12 6418677171789
OTSA1.04 4 x OTS1 + 4 x OLS42 17 x 30/18 0.022 1 6418677181702
OMS1 Mounting screw for rails and plates 5 x 10 0.0015 100 6418677164804
OBI1 Brass insert for mounting pod, Brass M3 0.0005 50 6418677172328
OBIA1.04 Brass insert, set à 4 OBI1 M3 0.002 1 6418677172335
OCP1 Cover plug, PE 11 x Ø 15/17 0.0006 12 6418677164811
OKL1 Cover lock incl. 2 keys and

mounting instruction Ø 15.7/Ø 14.3 0.064 1 6418677172311
OKL442 Key separately for OKL1 49 x 20 0.008 1 6418677174827
OBS15 15 mm spacer incl. M5 screw, steel 15 x 8 0.008 12 6418677171802
OBS15.04 15 mm spacer, set à 4 OBS15 15 x 8 0.032 1 6418677172342
OBS20 20 mm spacer incl. M5 screw, steel 20 x 8 0.0105 12 6418677171819
OBS20.04 20 mm spacer, set à 4 OBS20 20 x 8 0.042 1 6418677172359
OBS30 30 mm spacer incl. M5 screw, steel 30 x 8 0.0145 12 6418677171826
OBS30.04 30 mm spacer, set à 4 OBS30 30 x 8 0.058 1 6418677172366

Accessories only for Cubo C

Flanges and accessories to Cubo C

Cover plates

F1151 F1 size excl. gasket, PC/ABS 48 137 5 0.041 1 6418677171833
F2251 F2 size incl. PUR gasket, PC 86 216 8 0.092 1 6418677171949

Gland flange, F1 size

F1152 3 x Pg16 excl. gasket, PC/ABS 48 137 5 0.039 1 6418677171840
F1153 3 x Pg21 excl. gasket, PC/ABS 48 137 5 0.039 1 6418677171857
F1154 1 x Pg29 excl. gasket, PC/ABS 48 137 5 0.043 1 6418677171864

Gland flange, F2 size, incl. PUR gasket

F2157 3 x Pg21 + 4 x Pg16, PC 86 216 8 0.073 1 6418677171956
F2158 2 x Pg29 + 6 x Pg16, PC 86 216 8 0.074 1 6418677171963
F2159 2 x Pg36 + 4 x Pg16, PC 86 216 8 0.074 1 6418677171970
F2160 8 x Pg16, PC 86 216 8 0.073 1 6418677171987
F2161 10 x Pg11, PC 86 216 8 0.076 1 6418677171994

Knock out flange, F2 size, incl. PUR gasket

F2252 7 x Pk11 + 7 x Pk9/16, PC 86 216 8 0.083 1 6418677172113
F2253 2 x Pk21/29/36 + 2 x Pk9/16 + 1 x Pk11,

PC 86 216 8 0.088 1 6418677172397
F2254 5 x Pk16/21 + 2 x Pk11, PC 86 216 8 0.085 1 6418677172403
F2255 7 x M16 + 7 x M12/20 86 216 8 0.083 1 6418677172595
F2256 2 x M20/32/50 + 2 x M12/20 + 2 x M16 86 216 8 0.088 1 6418677172625
F2257 5 x M20/32 + 2 x M16 + 1 x M12/20 86 216 8 0.085 1 6418677172700

Membrane flange, F1 size

F1201 For 5 x Ø 7—30 mm cables, EPDM 48 138 20 0.083 1 6418677171871

Ordering
number

Description Dimensions
mm

W H D

Weight
each

kg

Inner
depth
mm

Standard
package

pcs

EAN 13
code


